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General Instructions :

Read the following instructions carefully and follow them :

(i) The question paper is divided into four sections — Section A, B, C and D.

(ii) There are 35 questions in all. All questions are compulsory.

(iii)  Section A includes questions no. 1 — 16. These are Objective Type Questions,
carrying I mark each. As per the question there can be one answer.

(iv)  Section B includes questions no. 17 — 25. These are Very Short Answer type

questions, carrying 2 marks each. Answer to each question should not exceed

30 words.
) Section C includes questions no. 26 — 32. These are Short Answer type questions,

carrying 4 marks each. Answer to each question should not exceed 80 words.

(vi)  Section D includes questions no. 33 — 35. They are Long Answer type questions,
carrying 6 marks each. Answer to each question should not exceed 200 words
each.

(vii)  Question no. 33 is to be answered with the help of given graphics. Question no. 34

is to be answered with the help of given passage.

SECTION A
1. Assertion (A) :  When the British took over Indian states, towns like Thanjavur,
Dhaka and Murshidabad lost their courts.
Reason (R) : British industrialisation led to deindustrialisation in some

sectors, and decline of old urban centres.

(A)  Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

2. Which of the following concepts involves the imitation of external forms of
culture ? It does not necessarily mean that people adopt modern values of
democracy and equality.

(A)  Modernization (B)  Sanskritisation
(C)  Secularisation (D)  Westernisation
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3. Which of the following is not true about land reforms in Independent India ?
(A)  Abolition of the Zamindari System
(B)  Tenancy Abolition
(C)  Raiyatwari System
(D)  Land Ceiling Acts
4. Which of the following statements is true for social movements ?
(A) A social movement requires sustained collective action over time.
(B)  Collective action need not be marked by some degree of organisation.
(C)  This organisation may not include a leadership and a structure.
(D)  Those participating in a social movement may not have shared objectives
and ideologies.
5. Which of the following statements is incorrect with regard to professionals

working in the service sector such as software industry ?

(A)  Software professionals are middle class and well educated.
(B)  Their work is supposed to be self-motivated and creative.
(C)  10-12 hours is an average work day, and its not uncommon for employees
to stay overnight in the office.
(D)  They do not want to show the boss that they are working hard.
6. Famines were a major and recurring source of increased
(A)  Fertility
(B)  Mortality
(C)  Dependency
(D)  Sex-ratio
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7. Which of the following is true for ‘Pure Castes’ ?
(A)  They are close to the sacred.
(B)  They have a low status.
(C)  They do not have material power.

(D) Itis believed that they were defeated in wars.

8. is an extreme and particularly vicious aspect of the caste

system that prescribes stringent social sanctions against members of castes located

at the bottom of the purity-pollution scale.

Which concept is being talked about here ?

(A)  Discrimination (B)  Untouchability
(C)  Prejudices (D)  Social Inequality

9. Assertion (4) :  Cultural diversity can present tough challenges.
Reason (R) : Cultural diversity is not linked to economic and social
inequalities.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

10.  Demographers and sociologists have offered several reasons for the decline in the
sex ratio in India.
Which of the following is not a reason for the decline in the sex-ratio ?
(A) Notlooking after girl babies in infancy
(B)  Sex-specific abortions
(C)  Female infanticide

(D)  Awareness
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11.  The Government of India Act, gave legal recognition to the lists

or schedules of castes and tribes marked out for special treatment by the State.

(A) 1927 (B) 1947

(C) 1953 (D) 1935

12.  Assertion (A) : India, like most societies, has been marked by acute practices of
social discrimination and exclusion.

Reason (R) : At different periods of history, no protest movements arose
against caste, gender and religious discrimination.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct

explanation of Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

13.  Assertion (A) : Respecting regional sentiments is not just a matter of creating
states.

Reason (R) : This has to be backed up with an institutional structure that
ensures their viability as relatively autonomous units within a
larger federal structure.

(A)  Both Assertion (A) and Reason (R) are true and Reason (R) is the correct

explanation of Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).
(C)  Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.
14.  Which of the following is not true for ‘footloose labour’ ?

D Migration does not have any relations with footloose labour.

(I) It implies freedom.

(IIT)  They are exploited.

(A) (I)and (I (B)  (II) and (III)
(C)  (I) and (III) (D) (D), (A1) and (III)
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15.  Assertion (A) : Farmers who know how to grow crops based on their
understanding of the weather, soil and seeds are unskilled.
Reason (R) : Machinery deskills workers.
(A)  Both Assertion (A) and Reason (R) are true and Reason (R) is the correct

explanation of Assertion (A).
(B)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not the

correct explanation of Assertion (A).
(C)  Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

16.  When Raja Rammohan Roy campaigned against Sati and formed the Brahmo

Samaj, defenders of Sati formed Dharma Sabha and petitioned the British not to

legislate against Sati.

Which of the following movement does it highlight ?

(A)  New Social Movement (B)  Social Change
(C)  Counter Movement (D)  Revolutionary Movement
SECTION B

17.  (a) In the first phase of the Green Revolution, in the 1960s and 1970s, the
introduction of new technology seemed to be increasing inequalities in
rural society. Green Revolution crops were highly profitable, mainly

because they yielded more produce.
Based on the above passage, answer the question given below :

How did the introduction of new technology increase inequalities in rural

society ? 2

OR
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18.
19.
20.
21.

22,

23.

24.

25.
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(b)  There are rural residents employed in government services such as the
postal and educational departments, factory workers, or in the army, who

earn their living through non-agricultural activities.
Based on the above passage, answer the following question.

Why have traditional occupations declined in rural India ?

18.  “Many factories employ badli workers”. Who are badli workers ? 2
19.  Define the concept of revolutionary movement with the help of an example. 2

20. Why were the Land Ceiling Acts ‘toothless’ in most of the states ? Give two

reasons. 1+1=2
21.  Differentiate between organised and unorganised sector. 1+1=2

22.  The rapid growth in urbanisation shows that the town or the city has been acting
as a magnet for the rural population.

Give two reasons for the above statement. 1+1=2

23.  The family is linked to the political, economic, cultural and educational spheres.

Justify with the help of two examples. 1+1=2

24. (a)  Membership in our families or religious or regional communities is without
preconditions, and yet it is total. In fact, most ascriptive identities are very
hard to shake off; even if we choose to disown them, others may continue
to identify us by those very markers of belonging.

Based on the above passage, answer the following question.

Why are community identities hard to shake off ? 2
OR

(b)  In terms of the nation-states relationship with community identities, the

Indian case fits neither the assimilationist nor the integrationist model.

What do policies of assimilation aim at ?

25.  Studies have shown how diverse forms of family are found in different societies.

With regard to the rules of inheritance, explain the two forms of family. 1+1=2
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SECTION C

26.  ‘Tribe’ is a modern term for communities that are very old, being among the

oldest inhabitants of the sub-continent. Tribes were communities that did not
practice a religion with a written text; did not have a state or political form of the

normal kind and did not have sharp class divisions.

In terms of positive characteristics, tribes have been classified according to certain

traits. Explain the traits. 4

27. (a)  To facilitate the smooth functioning of its rule, colonialism introduced a

wide array of changes in every sphere. Name and explain the changes in

any two spheres. 4

OR

(b)  Urbanization and Industrialisation are linked processes. Explain.

28.  Differentiate between stereotypes and discrimination. 4
29.  What is social stratification ? Explain the key principles of social stratification. 4
30.  Critically examine the concept of Sanskritisation. 4
31.  Several profound transformations in the nature of social relations in rural areas

took place in the post-Independence period. Explain these transformations. 4
32.  Explain the working conditions of workers working in coal mines. 4
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(M) SR § H-H G Aol & el § 7 SR T FO SR | [+]=2

N NN
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SECTIOND
33. Birth and Death rate in India 1901 — 2017

CHART 1: BIrRTH AND DEATH RATE IN INDIA 1901-2017

R e

~. e

i \ \
o B

RATE PER 1000 POPULATION
5]

0 : :
S 8§ 8 9 8 8 & 8 & 5 5 = D
5 - & & ¥ ® % R ® - & & 8§
& B B2 & B r B & &
== BIRTH RATE —=— DEATH RATE

Source: Nuational Commission on Population, Government of India.

website: http:// populationcommission. nic. in/facts1 htmi National Health Profile
2018, Ministry of Health and Family Welfare, Government of India; Economic
Survey 2018-19, Government of India.

Based on the above graph, answer the following questions :

(a) What is the relation between birth rate and death rate during the years
1911-2020 ?

(b)  Define negative growth rate.

(©) Which curve declines faster ? Give one reason for the same. 2

NN

Note : The following question is for the Visually Impaired Candidates only in lieu of
0. No. 33.

Between 1901-1951 the average annual growth rate did not exceed 1:33%, a
modest rate of growth. In fact between 1911 and 1921 there was a negative rate of
growth of — 0:03%. This was because of the influenza epidemic during 1918-19
which killed about 12:5 million persons or 5% of the total population of the
country (Visaria and Visaria 2003 : 191). The growth rate of population
substantially increased after independence from British rule going up to 2:2%
during 1961-1981. Since then, although the annual growth rate has decreased, it
remains one of the highest in the developing world.
Based on the given data, answer the following questions :

(a) What is the relation between birth rate and death rate during the years
1911-20? 2

(b)  Define negative growth rate. 2

(©) Between birth rate and death rate, which rate declines faster ? Give one
reason. 1+1=2
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AN\

34. TR foiig wfes ATy 1 Haiee I €9 ¢, I8l Gk AR SHE ® 8
TETEUl ST ki W ¥ R AT € | ISR STRIeRRT AT ol 36 Wsiferd et
T SR A o fog wrTd s & | Ut iffarfeat aren | 5 werees 2t € an anies
TSIST ol AT S H TRI oh! HISHT STET HTH HEAI o 11T AN I (AR LT

2 | TSI SAiEie TR ISHETE Hf sATd @ fSEH SR T gd1e s9 a7, 91 371

SR T R aTe 3 HEw U @ +ft e 8 € |

ST TS o STUR T T ok IR ST :

() Foreel <1 wmTfTeR STdierT S S SR I T HET % AT TSy | 2

(@) GRS Tigier fatrer o faf3Te wmedt =t oft forfera ear 2 | Seewor fafaw ) 4
35. ST H NI QIS 31 ekt 0 ==l hIfS | 6
62/S Page 18 of 19

Get More Learning Materials Here : & m @ www.studentbro.in



AN\

34.  While protest is the most visible form of collective action, a social movement also
acts in other, equally important ways. Social movement activists hold meetings to
mobilise people around the issues that concern them. Such activities help shared
understanding, and also prepare for a feeling of agreement or consensus about
how to pursue the collective agenda. Social movements also chart out campaigns
that include lobbying with the government, media and other important makers of
public opinion.

Based on the above passage, answer the following questions :

(a)  Name any two social movements and the issues that they fought for. 2

(b) Social movements also develop distinct modes of protest. Give examples. 4
35.  Discuss the role of civil society in the state. 6
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Senior Secondary School Supplementary Examination, 2024
SOCIOLOGY(039) Q.P. CODE 62/S
General Instructions: -

1 You are aware that evaluation is the most important process in the actual and
correct assessment of the candidates. A small mistake in evaluation may lead to
serious problems which may affect the future of the candidates, education system
and teaching profession. To avoid mistakes, it is requested that before starting
evaluation, you must read and understand the spot evaluation guidelines carefully.

2 “Evaluation policy is a confidential policy as it is related to the confidentiality
of the examinations conducted, Evaluation done and several other aspects.
Its’ leakage to public in any manner could lead to derailment of the
examination system and affect the life and future of millions of candidates.
Sharing this policy/document to anyone, publishing in any magazine and
printing in News Paper/Website etc may invite action under various rules of
the Board and IPC.”

3 Evaluation is to be done as per instructions provided in the Marking Scheme. It
should not be done according to one’s own interpretation or any other
consideration. Marking Scheme should be strictly adhered to and religiously
followed. However, while evaluating, answers which are based on latest
information or knowledge and/or are innovative, they may be assessed for
their correctness otherwise and due marks be awarded to them. In class-XIlI,
while evaluating two competency-based questions, please try to understand
given answer and even if reply is not from marking scheme but correct
competency is enumerated by the candidate, due marks should be awarded.

4 The Marking scheme carries only suggested value points for the answers. These
are in the nature of Guidelines only and do not constitute the complete answer. The
students can have their own expression and if the expression is correct, the due
marks should be awarded accordingly.

5 The Head-Examiner must go through the first five answer books evaluated by each
evaluator on the first day, to ensure that evaluation has been carried out as per the
instructions given in the Marking Scheme. If there is any variation, the same
should be zero after deliberation and discussion. The remaining answer books
meant for evaluation shall be given only after ensuring that there is no significant
variation in the marking of individual evaluators.

6 Evaluators will mark( ¥ ) wherever answer is correct. For wrong answer CROSS ‘X’
be marked. Evaluators will not put right (v)while evaluating which gives an
impression that answer is correct and no marks are awarded. This is most
common mistake which evaluators are committing.

7 If a question has parts, please award marks on the right-hand side for each part.
Marks awarded for different parts of the question should then be totaled up and
written in the left-hand margin and encircled. This may be followed strictly.

8 If a question does not have any parts, marks must be awarded in the left-hand
margin and encircled. This may also be followed strictly.

9 If a student has attempted an extra question, answer of the question deserving
more marks should be retained and the other answer scored out with a note “Extra
Question”.

1

Get More Learning Materials Here : & m &N www.studentbro.in



10 No marks to be deducted for the cumulative effect of an error. It should be

penalized only once.

11 A full scale of marks 80 (example 0 to 80/70/60/50/40/30 marks as

given in Question Paper) has to be used. Please do not hesitate to award full marks

If the answer deserves it.

12 Every examiner has to necessarily do evaluation work for full working hours i.e., 8

hours every day and evaluate 20 answer books per day in main subjects and 25

answer books per day in other subjects (Details are given in Spot Guidelines).

13 |Ensure that you do not make the following common types of errors committed by the

Examiner in the past:- Giving more marks for an answer than assigned to it.

e Wrong totaling of marks awarded on an answer.

e Wrong transfer of marks from the inside pages of the answer book to the title
page.

\Wrong question wise totaling on the title page.

Leaving answer or part thereof unassessed in an answer book.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick

mark is correctly and clearly indicated. It should merely be a line. Same is with

the X for incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks
awarded.

14 | While evaluating the answer books if the answer is found to be totally incorrect, it

should be marked as cross (X) and awarded zero (O)Marks.

15 Any un assessed portion, non-carrying over of marks to the title page, or totaling
error detected by the candidate shall damage the prestige of all the personnel
engaged in the evaluation work as also of the Board. Hence, in order to uphold the
prestige of all concerned, it is again reiterated that the instructions be followed
meticulously and judiciously.

16 The Examiners should acquaint themselves with the guidelines given in the
“‘Guidelines for spot Evaluation” before starting the actual evaluation.

17 Every Examiner shall also ensure that all the answers are evaluated, marks carried
over to the title page, correctly totaled and written in figures and words.

18 The candidates are entitled to obtain photocopy of the Answer Book on request on
payment of the prescribed processing fee. All Examiners/Additional Head
Examiners/Head Examiners are once again reminded that they must ensure that

evaluation is carried out strictly as per value points for each answer as given in the
Marking Scheme.

Get More Learning Materials Here : & m &N www.studentbro.in



MARKING SCHEME

SOCIOLOGY
Set-4
TS-h
1 A 1
2 D 1
3 C 1
4 A 1
5 D 1
6 B 1
7 A 1
8 B 1
9 C 1
10 |D 1
11 |D 1
12 |c 1
13 | A 1
14 | A 1
15 |D 1
16 |cC 1
s-d

(). 31 3N fRufd aret fopa fSMds Uy ST, Yol dab-iidh adl STHGRT A aT
S 7T SISl 3R @e) # U1 & Ihd 3, 3 3(UAT IcdTed ST Job 3R i U1
17 | 9P 1+1=2

(ii) YIERGTET = 3= USaRI ¥ SIHH 919 o ot i 31d e Y B oAl
SHTYH AU UTI ST 4T fpa SR S1fies Tud 81 7Y U1 YfAgH aur i
Y-YRP| B &M 3R faTs T3

OR
(i)‘Ij\%ﬁETW i} & TRER 3id:T q B3 I Tial &
AR T

(if) Sgd I NI TiTal H I &, bl B & TT ST Shifde ATHIT b febaramerl
TR 3T B | IETER0T & fore agd 9§ 7ia

G aTd AT BN A1 ol STha |, Rreft faumT &, s & SR a1
T DI Bt B &, SD! SidehT BTN fehardmamdl ¥ I |

" aga W tofael @ e BT o 9 F, O R g W G g T & wE W

HTH B B |

3
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" (i) HIfAHRT AT SHiGIa- AHToie Faei & M TRl BT TN B g,
T JSTdT UR HIPR &b gRII

(i) T B! AeRIfdH Hifd R TR BT USRS HIP ArIAI! I pI RITGAT Dt
JUT URTTT WIdT TUTH HifdpRT el & =0 H HRST P ol bt g

(@13 3= ST IETERT)
() ST g A 08 wETd b W IR gAY O R oRaRt iR TR Y e gy | 12
DI STl BT o I ST foram AT
(ii) SHfIHR gl § YRR 3o Y R=deRT a1 =g il & dffa faumforg o
& 30 3D B b AH W JUTHRAT ST S8 S TS |
(iif) 3R fHT™! = 3O Tell DI IRAd & qAD ¢ 3T (R ST & 1Y I8 3B)
T e & saaRT ¥ §99 & oY, Sifd U 3ffdaried Higdl &1 (e e
31 @) 3 T § s uferdl & 8| 38 9Tt gxataRur o gt ST T |

(@1 al fig)

() TIfEd &5 B 3B A 10 3R 31w AN & R a8 AR H 384 ¥ 39 &3 F1
T3 BIdT § SRS d &F & AU |

%)HTWTI%H a3 o 3% WPR & U Usiigpd gHT USdT §, e & & qr af
| 1+1=2
(iii) TIfT & T BTl B IUgad dd- T Aolgs), UM 3R 37 JfauTd et
g, SITaa & o T gl Bie |

20

21

@ fdg)

() e, eefifos, TuERYT S SHEUS Td SEER & 1Y g I aFf |
e aTd Al & gHe TRIT Siid Rd! 3R IUHNT & W& ! gy U H I &

(i) T ANl Y UrtoT SRl § S1H (wal &1H) 8) fiear 9 S1H & I | e
ERKIGES

(iif) TTial ¥ FRT B 3R Yagd @1 T & ggfery off doht o § ife Tiial & areiral,
G- TR SR TR YfFa o arelt Tufy & Ieeql & aR1eR HHT STl 571 38 g

(iv) dUT-F ART TN ST Dl B {-IIJ-III\SIOh SR A Yt gie Hd § ol b e

ﬁwﬁﬁmﬂsﬁwwm% S 3{AAT, T8 a2 fob TRIG Sitad § faRfrai
¥ U g1 I8l § $© U HRUN I ATHGRI Wifad 8 Jobdl §

(v) ST St SR Sgfad Sl o TrTfois 0 ¥ Yifsd Iqg! & wes
E1-U8- TS 84 dP USRI Bl 39 YA (T F §91a1 § off S Tiiar d
YT TSl § O8] 8% ls 3! olfd § 3¢ UgaHdl & |

(vi) TEY Sitad &1 TEATH o HRUT FHIiD e ¥ UY@Rdl JrHior gl &
4

22 1+1:2
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3Uedhd TRId AN TEX H SR His Ut -l IHg 9F a1d ®H & ¥ ol
feaferard for a 7ifa & Y5d §U St & SR 9 g R Tahd ¥ |

CIEXANEEY

23 () T8 TRaE B-FR A TP IR W B 384 & v IS wer s e g || T

ST AN HTH ] TART T 3T ST a2 |

(i) H-Ff T8 ulkadH ot faRiy yaieH & o fou ord €, o) fos o9 gar |
ST GRT 3D 1T SHa-Trft &1 A HRA & ol W &1 3T Sia--arft &1
AT B Ad & | ST I JHS H GHCMS TR ST JGd IR IR FoER foa ol g |

(iif) TETTeRR & & Tl & gl & Hawd ¥ 39 Md H UY URAR! &7 Y[ SR
=0 Y §¢ Tobd § FoFw g fomt €

(iv) YRd & AlHeadr I & S B g JaT AT-fUdT &1 Hr-99g U f fob 4
3 T DI SIHTA 31 I 9 HR T al dal alal-gried aul AF1-A1-a) B Te
§G ST |

@ fdg)

3 Iugad foig
24 2
(1) TG Uga, S T 0= TR SMUTRd gidl 5, 7 foh foreit sifold avgar

[UATS B YR R

(i) 39 UPHR B! Ugd ‘Uex Bl ol & 3rdfd I 4 ¥ Fuifka gt 8 ok Iafda
afeqdl &1 TRig a7 ATU%iG 394 QMHd 6! aid!

(iii) TRT 371 TG ¥ Gaferd SihR Siid WIS Td YAt HgHd Hd g o H 3!
ewdl I kg o TR YT 8t B

(iv) GYUAT: U HTH WD, TeRfgd Srydl AMHT IR qhids O Haifdd 817 &
HRUI &1 §H SRR U IS TgaH o HIGATHS ¥U J Z1 T8 IS 8Id 3 |

(v) Ued UgaHI 3R Jrgiie HiaT B T ot fadivar g8 gt ® b 3 gdaardh
Bl B CAEXARE

OR

i) 3 &2l o aren Aifqal &1 gt Ret # Ts THHE
({I-I)i@%glgl I#ibc:\rleﬁi Hf'ﬂﬁ"aﬁ 3T & forg Tﬁﬁ,mma g1 AR HAT %QT
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i I AR W [l T Tiey Iy Gal Uy ddgfba
%ﬁmﬁwwuﬁﬂaﬂﬂ%ﬁlw T T 1 Sl g

25 i) Trga=iia G- Sree | @ 9 B frad R | 1+1=2
(i) Frgaita ToTsT- STaere a9 g &) fad | |

WS-

26 RYTY @aror 2+2=4
(). &F P YR W - ST SR BT AT 85% YT T HRA' & 8T §
IR 15% H F 11% J 31 YaiaR Tai T 3R a1t & 3% § UIg-T 1% J¥ HRd
T Ed €| S B & SMHR $I 2fte J, Soiad H 9gd Sifid Sk TR Sang |

(i) AT & 3MYR W - 90 RGP I & Uglsdl, 9+, I A 3R
TR NN 3o i B

(iii). HTST & SMYR TR - Seiad o1 IR AR & faurforg fear mn g1 99 3 Q)
AP0t srufd YR -3 SR IS § | G 3R TN Wig 3Ree 3R fasadl-aff & |

(iv). TRRG-TSTTT & SMUR W - Sl &1 Hife), smedlss, HiMdrgs, aflas
3R 3 Ao o aefferur fpam an B

(v) PR & 3MYR TR - S BT o HHR & =fee I, Soliadl J dgd 3w faR
Ul SIdl 8, 999 J81 Sl &l S-% W1 THT 70 IR g Sidfe 999 Bict
ST AT SiSHM guariRia ot S e 100 feadl @ +ff 0 g1 9e9d 98]
STl e, e, Tute aiRia, 11, Siet iR 48T ¢ |

(@S G T Temm)

3rfofa @eror

(i) STSHAPT & MYR W, STl B AFST, W JUEH 3R dechd (RIGR),
SH Wl R aTd, HUD 3R SN qUT ST HIHTRI &1 AT & dler off Jabdt
ol
(ii). Te~g TS & IT0b JHIA &1 T |

27. I &F- () foar IuHaREare 3 wad Ui Wi o Fodl & g 6l 9adl | 2+2=4
3iftd gg Wt Ruila far i o @ wad I Se iR &1 4t 78T |
(i) T IATE & B!t 78T BISTI T3] F TG DI YUIel! 3R 3 faavur &
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R @l it Jeq fea
(iif) T8I ao P fafexr Iufazarg = fafewr doftarg & TR & fog Siral &1 off 78t
BIST| B U B Hels 3R IR H 1T BT Wl BT Y3 BRI |

Aiepfae &- () U e ugfd & YR § 39 S22 ¥ o T f 39
HRAI! &1 Teh THT 71 9IR g1 S fefesr Iufawrare o) s [aa & wganh gl

AR & () SNuFaRE WERl &1 IgHa R e gom oY §a8, Hadmdl
3R HET Jugad A 7T 3|

(Il) PIABIAT (3 &l BT Hardh) TH UgdT TR UT| Gl AT & [N g T1698
o BICTAferad ST RITIAT &M 3R I 9 B M3 HRA & 3G U g5

(iii) SferoT TR & Sfufalie TR & Afed § uRad gen-fawna s, agfed
o, ie-ga o Fa, sifafved |

CIEKAD)
OR

(i). Shefier &1 Tae T IdTeH & Ig I g off Wfdd & TRAFA Jq1eE o
a7 faggd R Rk grar 8

(ii). TRIBU-ART &b Ig- DI SHE b = H G - d BT S8 o ol |

(iii). STENIE ToTS O el ¥ 1G] ASAIRAy § T AN SREH!, Al 3R
gl H B B g |

(v) fofewr sieifierur &1 Ut IeeT 3R I fb YR & oo a3 § il erur
(ETeS RfFemgor) garl

(v). RERTHS TR gl TR 3R AT, e, 3R gRfamre &1 +ft ga= 8
T |

(vi). TG e TR S §a%, Hawdl 3R T Suddad AH T | 1ife 7 S8l
T IUHNT BT HTAH a3 HI FHaia e & fopar o Toar o7 | S DIl 9
S[C (UeHH) &I fafd giar o1 Siafe a9 ¥ dadl, 91, Hid iR HUN foeT &

fata fosar ST o7 |
(vii). TfFaa & 90 Ufawd ¥ 1T AT Ha! 3R WE H 8d & Hife dg] TR AR
g STII & TR ATFH B © |
3(d: BH TRIBRU DI A0 § FSghR 38/d & |
@1 R fdg)
28 [Ffgus YRUM 2+2=4
() Teag YRUN Th THE & IR H 3URad-1T, HoR 3R Fiedg YRUMST W

e B B
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(il) Tleds YR WIElR TSR 3R TSIy T 3R ARran & R H T ol
SIsIE!

(iii) S TG DI IR TSI’ Bt W S TS A PO DI BRR U URYeH 3R F©
! IS T T

(iv) Teag URUT IR g &I T I ot § RIfd & <t § 3R 39 4RO &
3faiel SafaTd, THUTTER a1 YRR firerar &1 off FR fear smar @ |

WegHTT

(i) WEHTT TR g 37al Afad & Ui fham a1 IagR 7

(i) AU P ARG U & 39 FHR +f <1 off b1 g oI ded U g &
e 3 AR & o S R AU I TN g F W A A € |

(iii) NEGHTT BT YHTOIT BT §g d Bio § D ol Ibdl ¢ [b g T al [l aR W
B 3R 71 & Teeqan 9iftd gl

(iv) I<TERUT & forw, for g afad ol Il Sifd & YR W b 34 I 77 fooan man
g ITD! Bl off Yobdl ¢ b ITDH! Avaal G-l ¥ HH § U 999 YUl 0 § IrgdT
& 3MYR R forar T B

29. |4 HARIT Sl TP AT H AR T F BRI HRd gU U STHiHa 2+2=4
R 7 3 Aufieg Bl § I8 THISIET JH1SIe TRIBRU Hed o

gg e Rigid o WeR0T o) SIRed R &

(i). TR TR1pRUT fadl & sig P fafirerar &1 U gt 78l afces Tu &1 Th
fafdreedr g |

(ii). TS TR0 Uigl-ax-id) s w|ar g |

(iii). QTR AIHRT &) faary a1 faeRyRT gRT g7 e g1

CaEK)
30 (). TAUYH, 39 YR St ATAEAT H g8 el SIdl § 1 STH JHIoId TaRiadm | 1+1+1+
15 ST BT ATHIRID TRIHRUT | SWHTHT URad Rl 8, B! 961-deld: qa™I [ | 1=4
o
(ii). SIS &l I8 § b 3T YR &I foaRYRT & Sfd Bi sha=ic 3o
ud Y SIfa & Al Bt Shia-Riel 9 §

(iii). TR ST I8 B fob TRPBIHRUN T YR Ueh T URY Pl Tg! SE0ct &
S SRS SFATAT 3R 3{Ugoi WR 31enid §

(iv). AT ST § 98 Sl offd § fob 3= Sifd & ST, Rarsi 3R aagR & °
THATHIU &b HRU Wipid He § Tefbal iR Afgarsit &1 S{amar & g &
G A bl 3T STl 81 $HY BUMHQd & R W Geol Ul 3R 3 gl &b
Y ST WeuTd 3 §¢ Y B
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(v). TTId gferd eepid U4 gferd TS & Jayd uel &f Wt fUseq am for Srar

d @K TR)
31 (). T8 PN b BRI BN AeeR] Bl Sglast T+1+1+
(i)). YT B A (3TN & R W A6 YT 1=4

(iif). URUR® sy & R 3rar 1Far vd fovar a1 HiY TofeRd
(o1 dysn TR it Fed §) & Heg YR Teiel § ot g
(iv). Hag ' [egTS! Herel & ol %1 3|

32 ). YIEETd @M H SR A a1 SR 16, 31T, SHOX A1 Jdg & 68 & S99 F [1+1+1+
Sgd WA Ut T qr-T v ¢ | 1=4
(i). S8 Y BRI ! T I Fefora SHTRar 8 et g1 oI e 7 a1 Riferap IR |
(iii). S Geft @Ml § B HRd §, 3 A 40 3R auf T S A § | W & e I a1
fopat =T & TR 31 arelt Tie &1 T Ht ad

(iv). B8 dPHaR AvieR] o1 IoRex i St § T8t T &, 3fd: T g B a1 |
foreit 4t Ty Y 37 ) FoTeY & g I

s -9

33 (@) 1911 H 1920 & dId Hdgly Pl & APRIHD -l FUMHD =0 I -0.03% gl
SYHT BRI 1918-19 F SR FUGUST HETART BT HIvor df Sa o1 o/ erv 1.25 | 2
RIS AT AT G Pt Hd o8 BT & 5% 3= B HId & g H chd [aaT ol

(@) TS fedd TR UfaRITo = O =1 38T g

2
M TG X 9gd doil 4 R 8 Fifes Fafdsean gfauns sik g, SFRewar aun
qHIY & &R H gy gl STt 81 14122
34 |(P) 1+1=2
(i). TITe! Sficier - TaTaRUT &l §aH & forg, 3 ger
(ii). ST 31 GIaH- 3T I BT84 (FRTUS)
(3T Dls I 3figia 3R &)
) T+1+1+
(i) TSI a1 HRE Sy 1=4
(ii). T HUS BT TAT
(iii). JoP S ATCH
(iv). Thd

9

Get More Learning Materials Here : & m &N www.studentbro.in



(v). SDIATY
(vi). TacaT it # e, Tame auT 9-% o WA |

CIERCIN
35 |(). MRS AT IY TS HRIET B! Had g offl URAR & ot 8T F W BT g, [1+1+1+
Qifch o 3R S9R &l & J SR BT § | T+1+1=
(i) ATTRS AT Frdoieh AR BT RIS 9UT W-aoR HFTgar e e | ©
SITT-31ET Hfad TRATS 3R 31 BT FAAT 37 & il WedT ¥ TWRER IS S
gl
(iii). T8 Tfehg ANTRGAT HT &F € el Afad Had FHIoe Jgi R T Hd &,
RIS T YHTTAT B B DI B & YT ISP JHE 3T+ AN [ad § |
(iv) SUH ISFIfAE ad, O IR B! JRIN, ASIgR Y, IR-INBRY W1, Unfife
e AT B § |
(v) TR TETSt H M 8 @) P waifedr U8 § fo I e+ sy g fa =gt
BT 9TfeT 3R I8 faxls = U § aforfods AT HH ard o A &l

(vi) fafay bR & gel &1 Iaran T oy Ui Tt SR & forw Sy |
Ty, fot & ufd &1 SR sareR & v Siftam, Sref & FHior 3iar uedt wR
e aTdl &1 gAary, Td} Skl gem & favs SR siarity SfisR! & e siftam,
o e Teieh guR, aferdl o yff &1 faavor snfe wnfee €1

(vii) BTd T IBTY U G-I HeHl § -l & HUBR & folu Ty 7¢I ol
e 31T HE@qUl Hgl off IHhal | |
CIERET)
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Senior Secondary School Supplementary Examination, 2024
SOCIOLOGY(039) Q.P. CODE 62/S

General Instructions: -

1 You are aware that evaluation is the most important process in the actual and
correct assessment of the candidates. A small mistake in evaluation may lead to
serious problems which may affect the future of the candidates, education system
and teaching profession. To avoid mistakes, it is requested that before starting
evaluation, you must read and understand the spot evaluation guidelines carefully.

2 “Evaluation policy is a confidential policy as it is related to the confidentiality
of the examinations conducted, Evaluation done and several other aspects.
Its’ leakage to public in any manner could lead to derailment of the
examination system and affect the life and future of millions of candidates.
Sharing this policy/document to anyone, publishing in any magazine and
printing in News Paper/Website etc may invite action under various rules of
the Board and IPC.”

3 Evaluation is to be done as per instructions provided in the Marking Scheme. It
should not be done according to one’s own interpretation or any other
consideration. Marking Scheme should be strictly adhered to and religiously
followed. However, while evaluating, answers which are based on latest
information or knowledge and/or are innovative, they may be assessed for
their correctness otherwise and due marks be awarded to them. In class-XII,
while evaluating two competency-based questions, please try to understand
given answer and even if reply is not from marking scheme but correct
competency is enumerated by the candidate, due marks should be awarded.

4 The Marking scheme carries only suggested value points for the answers. These are
in the nature of Guidelines only and do not constitute the complete answer. The
students can have their own expression and if the expression is correct, the due
marks should be awarded accordingly.

5 The Head-Examiner must go through the first five answer books evaluated by each
evaluator on the first day, to ensure that evaluation has been carried out as per the
instructions given in the Marking Scheme. If there is any variation, the same should
be zero after deliberation and discussion. The remaining answer books meant for
evaluation shall be given only after ensuring that there is no significant variation in
the marking of individual evaluators.

6 Evaluators will mark( vV ) wherever answer is correct. For wrong answer CROSS ‘X"
be marked. Evaluators will not put right (v)while evaluating which gives an
impression that answer is correct and no marks are awarded. This is most
common mistake which evaluators are committing.

7 If a question has parts, please award marks on the right-hand side for each part.
Marks awarded for different parts of the question should then be totaled up and
written in the left-hand margin and encircled. This may be followed strictly.

8 If a question does not have any parts, marks must be awarded in the left-hand
margin and encircled. This may also be followed strictly.

9 If a student has attempted an extra question, answer of the question deserving more
marks should be retained and the other answer scored out with a note “Extra
Question”.
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10 No marks to be deducted for the cumulative effect of an error. It should be penalized

only once.

11 A fgll scale of marks 80 (example 0 to 80/70/60/50/40/30 marks as given

in Question Paper) has to be used. Please do not hesitate to award full marks if the

answer deserves it.

12 Every examiner has to necessarily do evaluation work for full working hours i.e., 8

hours every day and evaluate 20 answer books per day in main subjects and 25

answer books per day in other subjects (Details are given in Spot Guidelines).

13 |Ensure that you do not make the following common types of errors committed by the

Examiner in the past:- Giving more marks for an answer than assigned to it.

e Wrong totaling of marks awarded on an answer.

e Wrong transfer of marks from the inside pages of the answer book to the title
page.

\Wrong question wise totaling on the title page.

Leaving answer or part thereof unassessed in an answer book.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick

mark is correctly and clearly indicated. It should merely be a line. Same is with

the X for incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks
awarded.

14 | While evaluating the answer books if the answer is found to be totally incorrect, it
should be marked as cross (X) and awarded zero (0) Marks.

15 Any un assessed portion, non-carrying over of marks to the title page, or totaling
error detected by the candidate shall damage the prestige of all the personnel
engaged in the evaluation work as also of the Board. Hence, in order to uphold the
prestige of all concerned, it is again reiterated that the instructions be followed
meticulously and judiciously.

16 The Examiners should acquaint themselves with the guidelines given in the
“‘Guidelines for spot Evaluation” before starting the actual evaluation.

17 Every Examiner shall also ensure that all the answers are evaluated, marks carried
over to the title page, correctly totaled and written in figures and words.

18 The candidates are entitled to obtain photocopy of the Answer Book on request on
payment of the prescribed processing fee. All Examiners/Additional Head
Examiners/Head Examiners are once again reminded that they must ensure that
evaluation is carried out strictly as per value points for each answer as given in the
Marking Scheme.
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MARKING SCHEME

SOCIOLOGY
Set-4
SECTION A
1 A 1
2 D 1
3 C 1
4 A 1
5 D 1
6 B 1
7 A 1
8 B 1
9 C 1
10 D 1
11 D 1
12 C 1
13 A 1
14 A 1
15 D 1
16 C 1
SECTION B

(@) In the first phase of the Green Revolution, in the 1960s and 1970s, the
introduction of new technology seemed to be increasing inequalities in rural
17 |society. Green Revolution crops were highly profitable, mainly because they
yielded more produce.

Based on the above passage, answer the question given below :

1+1=2
How did the introduction of new technology increase inequalities in rural
society?

Answer. (i) Well-to-do farmers who had access to land, capital, technology, and
know-how, and those who could invest in the new seeds and fertilisers, could
increase their production and earn more money.

(i) Landowners began to take back land from their tenants and cultivate it directly
because cultivation was becoming more profitable. This made the rich farmers
better off, and worsened the condition of the landless and marginal holders.

OR

(b) There are rural residents employed in government services such as the
postal and educational departments, factory workers, or in the army, who
earn their living through non-agricultural activities.

Based on the above passage, answer the following question.
Why have traditional occupations declined in rural India?
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Answer. (i) Increasing interconnection of the rural and urban economies have led to
many diverse occupations.

(i) Many people living in rural areas are employed in, or have livelihoods based on,
rural non-farm activities. For instance, there are rural residents employed in
government services such as the Postal and Education Departments, factory
workers, or in the army, who earn their living through non - agricultural activities.

18 “Many factories employ badli workers”. Who are badli workers?

Answer. Many factories employ badli workers who substitute for regular permanent
workers who are on leave.

19 . : . 2
Define the concept of revolutionary movement with the help of an example.

Answer. (i) Revolutionary social movement attempt to radically transform social
relations, often by capturing state power.

(i) The Bolshevik revolution in Russia that deposed the Tsar to create a communist
state and the Indian freedom struggle can be described as revolutionary movement.

(Any other relevant example)

1+1=2
20 Why were the Land Ceiling Acts ‘toothless’ in most of the states? Give two

reasons.

Answer. (i)There were many loopholes and other strategies through which most
landowners were able to escape from having their surplus land taken over by the
state.

(i) In most cases landowners managed to divide the land among relatives and
others, including servants, in so-called ‘benami transfers’ — which allowed them to
keep control over the land.

(i) In some places, some rich farmers actually divorced their wives (but continued to
live with them) in order to avoid the provisions of the Land Ceiling Act, which allowed
a separate share for unmarried women but not for wives.

(Any two)

21 | . . . : 1+1=2
Differentiate between organised and unorganised sector.

Answer. (i) The organised sector consists of all units employing ten or more people
throughout the year unlike unorganized sector.

(i) In organised sector they have to be registered with the government whereas the
unorganized sector may not.

(i) Organised sector ensures that their employees get proper salaries or wages,
pension and other benefits which is opposed to the unorganized sector.

(Any two)
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. : - . 1+1=2
22 The rapid growth in urbanisation shows that the town or the city has been

acting as a magnet for the rural population.

Give two reasons for the above statement.

Answer. (i) Mass media and communication channels are now bringing images of
urban life styles and patterns of consumption into the rural areas. Consequently,
urban norms and standards are becoming well known even in the remote villages,
creating new desires and aspirations for consumption.

(i) Those who cannot find work (or sufficient work) in the rural areas go to the city in
search of work.

(i) This flow of rural-to-urban migration has also been accelerated by the continuous
decline of common property resources like ponds, forests and grazing lands.

(iv) City may also be preferred for social reasons, especially the relative anonymity it
offers. Urban life involves interaction with strangers can be an advantage for different
reasons.

(v) For the socially oppressed groups like the Scheduled Castes and Scheduled
Tribes, this may offer some partial protection from the daily humiliation they may
suffer in the village where everyone knows their caste identity.

(vi) The anonymity of the city also allows the poorer sections of the socially dominant
rural groups to engage in low status work that they would not be able to do in the

village.
(Any two) Any other relevant point
23 o . : . 1+1=2
The family is linked to the political, economic, cultural and educational
spheres.

Justify with the help of two examples.

Answer. (i)The structure of family change, when a war takes place or people migrate
in search of work.

(i) Sometimes these changes are purposely brought about, as when young people
decide to choose their spouses instead of letting elders decide. Or when same sex
love is expressed openly in society.

(i) The migration of men from the villages of the Himalayan region can lead to an
unusual proportion of women-headed families in the village.

(iv) The work schedules of young parents in the software industry in India may lead to
increasing number of grandparents moving in as care-givers to young grandchildren.
(Any two) (Any other relevant point)
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24 . - . : e 2
(&) Membership in our families or religious or regional communities is without

preconditions, and yet it is total. In fact, most ascriptive identities are very hard
to shake off; even if we choose to disown them, others may continue to identify
us by those very markers of belonging.

Based on the above passage, answer the following question.

Why are community identities hard to shake off?

Answer. (i) Community identity is based on birth and ‘belonging. These kinds of
identities are called ‘ascriptive’ — that is, they are determined by the birth and do not
involve any choice.

(i) There is a sense of security and satisfaction in belonging to these communities.

(i) It is because of this accidental, unconditional and yet almost inescapable
belonging that we can often be so emotionally attached to our community identity.

(iv) Feature of ascriptive identities and community feeling is that they are universal.
(Any two)
OR

In terms of the nation-states relationship with community identities, the Indian
case fits neither the assimilationist nor the integrationist model.

What do policies of assimilation aim at?

Answer. (i) Policies that promote assimilation are aimed at persuading, encouraging
or forcing all citizens to adopt a uniform set of cultural values and norms.

(ii) States generally tend to favour a single, homogenous national identity, in the hope
of being able to control and manage it.

25 . , . . . 1+1=2
Studies have shown how diverse forms of family are found in different

societies. With regard to the rules of inheritance, explain the two forms of
family.

Answer. (i) Patrilineal family- Where societies pass on property from father to son.

(i) Matrilineal family- Where societies pass on property from mother to daughter.
26 |‘Tribe’ is a modern term for communities that are very old, being among the |2+2=4
oldest inhabitants of the sub-continent. Tribes were communities that did not
practice a religion with a written text; did not have a state or political form of
the normal kind and did not have sharp class divisions.

In terms of positive characteristics, tribes have been classified according to
certain traits. Explain the traits.
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Answer. Permanent Traits

(i) On the basis of region- There are concentrations in certain regions. About 85% of
the tribal population lives in ‘middle India. Of the remaining 15%, over 11% is in the
North Eastern states, leaving only a little over 3% living in the rest of India.

(i) On the basis of ecological habitat- It includes hills, forests, rural plains and urban
industrial areas.

(i) On the basis of language-Tribes are categorised into four categories. Two of
them, Indo-Aryan and Dravidian, are shared by the rest of the Indian population as
well, and tribes. The other two language groups, the Austric and Tibeto-Burman, are
primarily spoken by tribals.

(iv) On the basis of physical-racial terms- Tribes are classified under the Negrito,
Australoid, Mongoloid, Dravidian and Aryan categories.

(v) On the basis of size- Tribes vary a great deal, ranging from about seven million to
some Andamanese islanders who may number less than a hundred persons. The
biggest tribes are the Gonds, Bhils, Santhals, Oraons, Minas, Bodos and Mundas, all
of whom are at least a million strong.

(Any two permanent traits)
Acquired Traits

(i) On the basis of livelihood, tribes can be categorised into fishermen, food gatherers
and hunters, shifting cultivators, peasants and plantation and industrial workers.

(i) Extent of incorporation into Hindu society.

- - . o 2+2=4
21 (a) To facilitate the smooth functioning of its rule, colonialism introduced a

wide array of changes in every sphere. Name and explain the changes in any
two spheres.

Answer. Legal Sphere- (i) It changed the very laws of the land. It changed not just
land ownership laws but decided even what crops ought to be grown and what ought
not to be.

(i) 1t meddled with the manufacturing sector. It altered the way production and
distribution of goods took place.

(i) It entered into the forests. It cleared trees and started tea plantations. It brought in
Forest Acts that changed the lives of pastoralists.

Cultural Sphere- (i) Western education was introduced to create Indians who would
manage British colonialism.

Architectural Sphere- (i) Emergence of new colonial cities, such as Mumbai,
Kolkata and Chennai were favoured.

(i) Kolkata was one of the first of such cities. In 1698, Fort William was established
by the river for defensive purposes, and a large open area was cleared around the
fort for the military engagements.

(i) There were Changes in the model of the South Asian colonial city like- spacious
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bungalows, planned streets, clubs for get togethers etc.

(Any two spheres)

OR
(b) Urbanization and Industrialisation are linked processes. Explain.

Answer. (i) Industrialisation refers to the emergence of machine production, based
on the use of inanimate power resources like steam or electricity.

(i) Urbanisation- Cities replaced villages as places to live for many people.

(i) A prime feature of industrial societies today is that a large majority of the
employed population work in factories, offices or shops rather than agriculture.

(iv) British industrialisation led to deindustrialisation in some sectors. And decline of
old urban centres. This period also saw the further decline of cities such as Surat and
Masulipatnam while Bombay and Madras grew.

(v) Coastal cities such as Mumbai, Kolkata and Chennai were favoured. From here
primary commodities could be easily exported and manufactured goods could be
cheaply imported.

(vi) Over 90 per cent of people in the west live in towns and cities therefore, we
usually associate urbanisation with industrialisation.

(Any four) (Any other relevant point)

: : L 2+2=4
28 Differentiate between stereotypes and discrimination.

Answer.
Stereotypes —

() Prejudices are often grounded in stereotypes. They are fixed and inflexible
characterisations of a group of people.

(i) Stereotypes are often applied to ethnic groups, racial groups and to women.
stereotypes are partly colonial creations.

(i) Some communities were characterised as ‘martial races’, some others as
effeminate or cowardly, yet others as untrustworthy.

(iv) Stereotypes fix whole groups into single, homogenous categories; as they refuse
to recognise the variation across individuals and across contexts or across time.

Discrimination-
() It refers to actual behaviour towards another group or individual.

(i) Discrimination can be seen in practices that disqualify members of one group from
opportunities open to others as when a person is refused a job because of their
gender or religion.

(i) Discrimination can be very hard to prove because it may not be open or explicitly
stated.
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(iv) Example, the person who is refused a job because of his or her caste may be told
that he or she was less qualified than others, and that the selection was done purely
on merit.

29 What is social stratification? Explain the key principles of social stratification. 2+2=4
Answer.

Social stratification refers to a system by which categories of people in a society are
ranked in a hierarchy.
OR
Social stratification refers to the hierarchical arrangement of different segments of]
society into ’strata’ or sub-groups whose members share the same general position in
the hierarchy.
(Any one definition)

The key principles of social stratification are:

(i) Social stratification is a characteristic of society, not simply a function of individual
differences.

(i) Social stratification persists over generations.

(i) Social stratification is supported by patterns of belief, or ideology.

(Any two)

30 Critically examine the concept of Sanskritisation. 1+1+1+

Answer. Sanskritisation as a concept has been critiqued at different levels.

() One, it has been criticised for exaggerating social mobility or the scope of ‘lower
castes’ to move up the social ladder. For it leads to no structural change but only
positional change of some individuals.

(i) Two, it has been pointed out that the ideology of sanskritisation accepts the ways
of the ‘upper caste’ as superior and that of the ‘lower caste’ as inferior.

(i) Third, ‘sanskritisation’ seems to justify a model that rests on inequality and
exclusion. It appears to suggest that to believe in pollution and purity of groups of
people is justifiable or all right.

(iv) Fourth, since sanskritisation results in the adoption of upper caste rites and rituals
it leads to practices of secluding girls and women, adopting dowry practices instead
of bride-price and practising caste discrimination against other groups, etc.

(V)Fifth, the effect of such a trend is that the key characteristics of Dalit culture and
society are eroded.

(Any four)
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31 : : . . :
Several profound transformations in the nature of social relations in rural 1+1+1+

areas took place in the post-Independence period. Explain these 1=4
transformations.

Answer. (i) Anincrease in the use of agricultural labour as cultivation became more
intensive;

(if) A shift from payment in kind (grain) to payment in cash;

(iif) Loosening of traditional bonds or hereditary relationships between farmers or
landowners and agricultural workers (known as bonded labour);

(iv) Rise of a class of ‘free’ wage labourers’
32 Explain the working conditions of workers working in coal mines.

1+1+1+
Answer. (i) Workers in underground mines face very dangerous conditions, due to |1=4
flooding, fire, the collapse of roofs and sides, the emission of gases and ventilation
failures.

(i) Many workers develop breathing problems and diseases like tuberculosis and
silicosis.

(iif) Those working in overground mines have to work in both hot sun and rain and
face injuries due to mine blasting, falling objects etc.

(iv) Many contractors do not maintain proper registers of workers, thus avoiding any
responsibility for accidents and benefits.

33 (a) What is the relation between birth rate and death rate during the years 1911- >

20207

Answer. In between 1911 and 1920 there was a negative rate of growth of — 0.03%.
This was because of the influenza epidemic during 1918-19 which killed about 12.5
million persons or 5% of the total population of the country.

(b) Define negative growth rate.

Answer. When fertility rates are below the replacement level, societies experience a 2
negative growth rate.

(c) Which curve declines faster? Give one reason for the same.

Answer. The curve of death rates declines faster. This is because of progress in
medical science with development, improvements in medical cures for the diseases, |[1+1=2
programmes for mass vaccination, and efforts to improve sanitation helped to control
epidemics.
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34 (a) Name any two social movements and the issues that they fought for.

1+1=2
Answer. (i) Chipko Movement-To save Environment (forest and trees), Economic
issues.
(ii) Tribal Movement- Formation of separate state (Jharkhand)
(any other social movement and issue)
(b) Social movements also develop distinct modes of protest. Give examples.
T+1+1
Answer. (i) Candle and torch light processions +1=4
(i) Use of black cloth
(iii) Street theatres
(iv) Songs
(v) Poetry
(vi) Ahimsa, satyagraha and use of the charkha in the freedom movement.
(Any Four)
35 Discuss the role of civil society in the state. 1+1+1
+1+1+

Answer. (i) Civil society is the name given to the broad arena which lies beyond the |1-¢g
private domain of the family, but outside the domain of both state and market.

(i) Civil society is the non-state and non-market part of the public domain in which
individuals get together voluntarily to create institutions and organisations.

(i) 1t is the sphere of active citizenship. individuals take up social issues, try to
influence the state or make demands on it, pursue their collective interests, or seek
support for a variety of causes.

(iv) It includes political parties, media institutions, trade unions, non-governmental
organisations (NGOs), religious organisations, and other kinds of collective entities.

(v) The main criteria for inclusion in civil society are that the organisation should not
be state-controlled, and it should not be a purely commercial profit-making entity.

(vi) The issues taken up are diverse, ranging from tribal struggles for land rights,
campaigns against rape and violence against women, rehabilitation of those
displaced by dams and other developmental projects, primary education reform,
distribution of land to Dalits etc.

(vi)The most significant recent initiative is the campaign for the Right to Information.

(Any Six)
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